EAGRAROBREERT — 2 N— ABISH —F

PR FOREE C2t/\A Y 5R—M

[A~&£] 1 7% :1,000,000  ~ 23 :400,000 37 :250,000 § ~ 4 3 :150,000 @ 5 7 :100,000 M

20195128260 (K) 15BIA#2H

‘ [Rfg] 2 ‘ [FEERR] — | 4 (&) 12000 &=

WmEBR MK ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
— VN EDN :15. - . — AR (KHF)
HFFILZ L — 4 4 am 1(1_5)6 4-4 39.2 7 423)7 e
L:hxEXY BOOFRITANL HISHS
> 3 | HEIATIE 1:15.8 12-9 38.9 — 1 410 | FREE (KH)
T4 by —L - 56.0 (1 1/4) 1) NERAX
L:x+TTrobhw—L B hIh1ELYY [QLR<0F e ]
— o mEt :15. — . — JEF IR (/)\HE)
TITRXT 4 ,-77__)[/ 7 gg.lo (171;378) 7-6 39.1 2 (4_728) el
RTH S INEry b BT IRTF 4 TRT 1 =
. = g~ INFRFRR : - — 1EBESE (KH)
HUH IS A R 5 s (13.116/.25) 2-2 40.3 5 ig? S
R:T772AVI7 BAYI/FLE— K KB
. PEAIRIE :16. - . — SR (K3
50110 oI/ =2 4 7 e 1(11/62)6 15-12 39.3 13 :’235) /_JL\%E
RV e GNKry b BT ksa—-% FAt Fk
= o - 5 | ATEEE 1:16.6 5-5 40.1| — 8 514 | EEMYE (KH)
6|5[10| A7 1 v 7t=3) " .0 7€ 43) | B FALTN—
RiATOANAY— B AEA IR H— HREH TALT—
; 5 it 3 | AIIE 1:16.6 14-15 | 39.4| — 16 | 422 |#LEBhZ (K3H)
76| FTVIL—A 54.0 (75%) O | KEEE
Ry —3IUTY BIALLILYTSH HiE 7 7 — L
® - o4 | HIE 1:16.8 10-11 39.9| — 6 473 | BRA—R (KH)
spys| 7/ /ILX T 0 (1 1/4) (a) | B TP=ZhEVa
R:xA1=ZTr7—R By I TrA8— e ]
. . FHIEE :16. - . — WMAFIR (KH)
9!59 TAITRATLT > 4 4 o 2 (171278) 16-16 39.4 12 (43) iy
LT RIAYA—F B7MIZX%yF Il ST
N N BB 7. - . - A (K3)
] s RRESE AR 5 o= (11 137/41) 1-1 40.9 4 (4+513) par
R:T—WRKTPYa—b B:r—Y—Z1—h YaA—Tr—L4
S 4o 4 3 | HBXS 1:17.5 8-10 40.7| - 9 496 | BAREE (IviF)
1118116 [N 56.0 o) 1) |FEAR
Y92G5 B:€57 =R77—L4L
oy 42 5 o4 | BEXK 1:17.6 1-13 | 40.7| — 10 | 487 | FEAE (KH)
12815 /Y7 RTRT—Y 6.0 7€) (o) | IR
R: Ay« 7 hALC N B:OT— FEEsgaed
. 3 | EHE 1:17.8 3-3 N5 — 3 435 | HAETAZ (KH)
1317114 h—"J4 ¥¢53.0 (3/4) (1) |WER
RN=V9754 B:T7-V—-—Tr)Hh> HeE77—L
i 3 | BERE 1:17.8 6-7 Mna1l - 15 | 467 |FsEAE (KH)
14{7[13| 7V AR XA 7 2R #83.0 (h) Gy |
L4 h—U B:ARETART1= L=>3 1) A NRZRAY
S . s 3 | BHE 1:18.1 1314|411 — 14 | 429 |MBFIR (KH)
15 12| P A/ L EX 54.0 (1172 () | AR
R:2RUIYXIZX B:I14a->T1) FEEANS
o= N (PN :18. - . - BERE (KH)
16 MES LTSS YL R 3 s 1(128)5 9-8 4.7 1 ;1:330) mas
RNy vHF—IL B:ixexo1> B
@ 1—F—@&BIEf
12—7—
23—7F—
Gal=7r= 5,11,14,4,10,13,1,16,7,8,15,3,12,6,2,9
41—+ — 5,11,14,4,10,1,13,7,3,16,8,2,15,12,6,9
[ RN
B OB 4 1,580 714K 3-4 640M e & 2-2 2,010M 3ER 1-3-4 2,750
7 B 4 250 1-4 1,140 | | # B 2-2 2,160M | | 3:EE 4-3-1 25,120
3 130M4 1-3 350M B E 3-4 1,700M
1 170 B H 4-3 4,510

ABRICOVTHRTEEERROODE, THEB LS,




